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) 800m M35 3 2.03.41 He 5 35 B 09.22
g8 800m M35 4 2.07.16 IR FR 38 | #BE 09.22
5 800m M35 | 5 2.07.56 0 = 39 | g 09.22
g8 800m M35 6 2.08.26 # hEB 36 BIR 09.22
E:) 800m M35 7 2.09.60 #% LS 39 | #®=J)I | 09.22
E:) 800m M35 8 2.15.21 F% BHE 36 RE 09.22
g8 800m M35 9 2.35.65 Al B 36 BE 09.22
g8 800m M40 1 2.00.52 HE #B(- 41 B 09.22 | K=HLE
E; 800m M40 | 2 2.04.93 KiF Bt 43 | HE® 09.22
B 800m M40 3 2.06.22 B E— 4 | HR 09.22
g8 800m M40 | 4 2.07.21 EE 4 43 Z4N 09.22
E; 800m M40 | 5 2.16.01 hit BAER |44 | RH 09.22
) 800m M40 6 2.18.49 RT 88 42 I 09.22
g8 800m M40 7 2.27.40 RE &8 42 /N 09.22
E:) 800m M40 | 8 24377 T 185 41 NI 09.22
E:) 800m M45 1 2.02.62 rep ZREN 45 =E 09.22
g8 800m M45 2 2.08.39 0 B 46 £E 09.22
g8 800m M45 3 2.12.09 X2 BEh 45 WL 09.22
£ 800m M45 4 2.13.05 A # 45 RIR 09.22
g8 800m M45 5 2.13.97 REZE B 47 3= 09.22
E:) 800m M45 6 2.14.83 BE B®4E 46 &Ll 09.22
£ 800m M45 7 2.19.25 AIEF Zwah 48 250 09.22
g8 800m M45 8 2.19.60 A0 % 49 EE 09.22
g8 800m M45 9 2.19.95 #HR Bz 45 2 09.22
E: 800m M45 | 10 2.21.01 EH #B%& 48 Z=| 09.22
E) 800m M45 | 11 2.22.82 AR SR 49 EE 09.22
g8 800m M45 | 12 2.23.37 FEH A 46 3 09.22
E:) 800m M45 | 13 2.26.02 1Em 2 47 LE 09.22
) 800m M45 | 14 2.34.32 Jel FiE 45 BIR 09.22
E:) 800m M45 | 15 2.35.50 R 1B 49 A 09.22
E:) 800m M50 1 2.10.79 WA BHER | 50 KB 09.22
g8 800m M50 2 2.11.81 A = 50 AR 09.22
g8 800m M50 3 2.12.52 A f— 50 [ITEL 09.22
E:) 800m M50 4 2.17.44 RE HIE 53 KBR 09.22
B 800m M50 5 2.18.02 #FL B— 54 | #Z)I | 09.22
g8 800m M50 6 2.20.71 i & 52 FE 09.22
E:) 800m M50 7 2.21.41 gH BEZ 53 BiR 09.22
E:) 800m M50 8 2.23.07 A FHih 54 /N= 09.22
g8 800m M50 9 2.26.43 E%H E& 52 £E 09.22
E:) 800m M50 | 10 2.27.38 HBE EA | 50 /N= 09.22
E: 800m M50 | 11 2.27.94 EO BE 50 BE 09.22
g8 800m M50 | 12 2.28.59 B4E B2 54 | HE 09.22
E:) 800m M50 | 13 2.31.64 WER E 51 o 09.22
£ 800m M50 | 14 2.33.04 g BN 52 | #®Z=JIl | 09.22
E) 800m M50 | 15 2.34.17 Z%H BE 52 24 09.22
g8 800m M50 | 16 2.34.72 & B 51 PN 09.22
E:) 800m M50 | 17 2.35.04 H 2% 51 RE 09.22
E) 800m M50 | 18 2.48.61 Bk &t 53 B 09.22
g8 800m M55 1 2.19.65 M B8 58 WL 09.22
) 800m M55 2 2.19.67 FE s 55 KR 09.22
E:) 800m M55 3 2.20.08 AET HfE 58 L5 09.22
g8 800m M55 4 2.21.34 B RE 57 =l 09.22
E:) 800m M55 5 2.22.75 mil ® 58 % 09.22
E:) 800m M55 6 2.25.08 Het #2 56 250 09.22
E:) 800m M55 7 2.29.66 #EH =X 56 B’ 09.22
E; 800m M55 | 8 2.33.18 i BT 59 | hi@ 09.22




E:) 800m M55 9 2.37.31 21l B 56 RIR 09.22
g8 800m M55 | 10 2.39.96 B¥% BRX 58 B 09.22
E:) 800m M55 | 11 2.45.77 WA —4% 58 B 09.22
E:) 800m M55 | 12 3.02.67 AL #58h 56 R’IR 09.22
E:) 800m M55 | 13 3.13.39 & BB 59 PN 09.22
E:) 800m M60 1 2.27.21 Hr £Z 64 | B 09.22
) 800m M60 2 2.28.66 HE & 62 [53= 09.22
E:) 800m M60 3 2.29.49 HE H— 61 = 09.22
g8 800m M60 | 4 2.34.29 R = 60 | dbiEE | 09.22
) 800m M60 5 2.35.14 BmE EX 64 | EE 09.22
E:) 800m M60 6 2.35.17 KB & 62 RE 09.22
g8 800m M60 7 2.38.09 A BB 63 PN 09.22
E:) 800m M60 8 2.40.20 BH EA 60 RE 09.22
g8 800m M60 9 2.45.46 A5 X 61 | =zl | 09.22
g8 800m M60 | 10 3.08.87 #R BH 61 BHE 09.22
g8 800m M65 1 2.28.52 A +X 66 wno 09.22
E: 800m M65 2 2.35.53 [RiR & 66 BE 09.22
g8 800m M65 3 2.35.61 =18 8 65 Nz 09.22
E:) 800m M65 4 2.37.98 FEH &— 65 i 09.22
E: 800m M65 5 2.4553 2 & 66 BN 09.22
g8 800m M65 6 24719 e 68 PN 09.22
8 800m M65 7 2.48.26 ZH =5 67 B’ER 09.22
E; 800m M65 | 8 2.49.94 #* KB 68 | BiR 09.22
B 800m M65 9 2.50.44 #E Ba| 66 PN 09.22
g8 800m M65 | 10 2.51.67 R FF 65 S 09.22
E; 800m M65 | 11 2.51.69 ik 65 | B 09.22
E:) 800m M65 | 12 2.54.55 i 2858 66 NI 09.22
g8 800m M65 | 13 2.55.21 AR # 67 BR 09.22
E:) 800m M65 | 14 2.56.33 BHO #HE 66 BiE 09.22
E:) 800m M65 | 15 2.56.76 HAR g 67 KB 09.22
E) 800m M65 | 16 2.58.33 FH # 68 B 09.22
E:) 800m M65 | 17 3.07.97 AIMk B 66 B 09.22
£ 800m M70 1 2.36.90 i R 70 12 09.22
E:) 800m M70 2 2.45.49 K% 70 /N= 09.22
g8 800m M70 3 2.47.00 thE EfE 72 ke 09.22
E:) 800m M70 4 2.53.61 ®EH BX il FE 09.22
g8 800m M70 5 2.54.91 =17 B 70 B 09.22
g8 800m M70 6 2.56.23 hiE B2 72 | dbiEE | 09.22
E; 800m M70 | 7 257.35 HOo BE 70| &N 09.22
E:) 800m M70 8 2.57.76 EH &R 70 EE 09.22
g8 800m M70 9 2.59.26 HITH B 74 | K 09.22
E:) 800m M70 | 10 3.02.19 WE BA 72 RE 09.22
E:) 800m M70 | 11 3.04.50 BE = 70 FE L 09.22
g8 800m M70 | 12 3.28.22 1k B 74 | EE 09.22
£ 800m M70 | 13 3.44.14 EHR 1BE 74 | BIRE | 0922
E: 800m M70 | 14 3.59.98 B RS 73 | #mE 09.22
E:) 800m M70 | 15 5.02.44 Xk &EX 72 | BIRE | 09.22
5 800m M75 1 2.52.95 ML B— 76 | AN 09.22
) 800m M75 2 2.56.43 IT|= ) 77 B3 09.22
E:) 800m M75 3 3.04.50 BTE {EMER | 77 LE 09.22
5 800m M75 | 4 3.14.32 E% 8% 77 | deiEE | 09.22
) 800m M75 5 3.18.17 R 28 75 B 09.22
E:) 800m M75 6 3.25.87 = BiE 75 X5 09.22
5 800m M75 | 7 3.47.96 AR FK 76 | K& 09.22
) 800m M75 8 3.58.41 7l B’ 75 L5 09.22
g8 800m M80 1 3.17.04 el R 80 | B 09.22
E; 800m M80 | 2 3.21.92 A % 80 | EE 09.22
E:) 800m M80 3 3.24.93 HEXR ®ABA | 81 i 09.22
g8 800m M80 | 4 3.33.87 g IEA 84 | ®ZIl | 09.22
5 800m M80 | 5 3.37.62 FT =48 |80 | KX 09.22
E:) 800m M80 6 4.04.70 45 #Hsh 84 BiR 09.22
E:) 800m M80 7 4.20.31 BEE X 81 | #®=JIl | 09.22
E:) 800m M85 1 42278 AR EX 87 BE 09.22
g8 1500m M24- | 1 4.19.01 Bt BXK 24 | BE 09.24
g8 1500m M24- | 2 42733 mE B 23 | B[ 09.24
E; 1500m M25 1 421.09 PSS 29 NI 09.24
g8 1500m M25 2 4.29.84 INE KED 26 | BE 09.24




E:) 1500m M30 1 4.10.81 A E# 32 BE 09.24 | KEFHELHF
E:) 1500m M30 2 42410 A [5ih 33 B 09.24
E; 1500m M30 | 3 4.30.57 FiR B+ 33| EE 09.24
E:) 1500m M30 4 4.30.84 WA =R[E 32 AL 09.24
E:) 1500m M30 5 5.08.30 g = 34 RE 09.24
E:) 1500m M30 6 5.20.07 XH &RFE 30 B 09.24
E:) 1500m M35 1 404.10 HF BER 35 B 09.24 | K&FoH
E:) 1500m M35 2 4.22.61 gk 36 RE 09.24
E:) 1500m M35 3 4.25.36 =R Eh 36 PN 09.24
) 1500m M35 4 4.28.47 g 7 36 FE 09.24
E) 1500m M35 5 4.35.65 N FRE 38 BE 09.24
E:) 1500m M35 6 44511 iR #%—E | 35 B35 09.24
£ 1500m M35 7 45224 #H =g 36 HiR 09.24
) 1500m M35 8 4.56.32 =& = 38 Z40 09.24
E:) 1500m M40 1 4.11.97 5E B- 41 3 09.24
5 1500m M40 | 2 42382 A I 40 | =) | 09.24
g8 1500m M40 3 42419 EfF #E 44 BE 09.24
E:) 1500m M40 4 4.30.41 Kig 5t 43 4 09.24
£ 1500m M40 5 4.43.95 AH X% 43 Ik B2 09.24
) 1500m M40 6 450.78 i BARER | 44 oyl 09.24
E:) 1500m M40 7 6.08.94 R BB 42 E40 09.24
E:) 1500m M45 1 411.70 e /AN 45 =E 09.24
) 1500m M45 2 4.24.60 BHF B 47 Bl 09.24
E:) 1500m M45 3 4.25.52 RE BA 47 Ik B2 09.24
E; 1500m M45 | 4 4.28.85 RE EEsA 49 | FE 09.24
) 1500m M45 5 4.32.02 LT &3k 49 RE 09.24
E:) 1500m M45 6 43493 BEAR BA 45 | FOFL | 09.24
E:) 1500m M45 7 437.74 & Eth 48 EE 09.24
g8 1500m M45 8 4.38.31 BIE = 45 | FFL | 09.24
E:) 1500m M45 9 4.39.20 g2 X 48 PN 09.24
E:) 1500m M45 | 10 4.40.71 WFT s 46 BE 09.24
E:) 1500m M45 | 11 4.41.80 Jd# i 46 2450 09.24
E:) 1500m M45 | 12 4.44.70 X% BA5h 45 kE 09.24
E:) 1500m M45 | 13 4.46.30 BE B®4E 46 &Ll 09.24
E: 1500m M45 | 14 4.46.71 TH fli— 49 RE 09.24
E:) 1500m M45 | 15 4.48.82 T Bz 45 | ]| 09.24
E:) 1500m M45 | 16 4.55.69 £l & 47 B 09.24
E:) 1500m M45 | 17 458.79 T B 49 RE 09.24
E) 1500m M45 | 18 459.83 5 BE 47 Z40 09.24
E:) 1500m M45 | 19 459.94 AIA E— 47 B 09.24
£ 1500m M45 | 20 5.05.14 R EH 45 HiR 09.24
E:) 1500m M45 | 21 5.13.61 MR fE 48 mE 09.24
E:) 1500m M45 | 22 5.13.91 HEH BA 46 B 09.24
) 1500m M45 | 23 5.24.26 R & 49 e 09.24
) 1500m M45 | 24 5.39.91 T B 47 3 09.24
E:) 1500m M50 1 4.33.65 A f— 50 [ITEL 09.24
£ 1500m M50 2 43592 1A & 50 R 09.24
E: 1500m M50 3 4.42.89 ik 51 HE 09.24
E:) 1500m M50 4 4.43.01 Hrh ZEF0 50 BE 09.24
E:) 1500m M50 5 44727 gH BEZ 53 BiR 09.24
E: 1500m M50 6 4.47.47 B EM 52 | Il 09.24
E:) 1500m M50 7 4.48.25 H AR 51 £E 09.24
g8 1500m M50 8 458.28 b m 3 50 BE 09.24
E: 1500m M50 9 5.11.44 B EE 51 RE 09.24
E:) 1500m M50 | 10 5.14.41 gk Bt 51 B 09.24
E:) 1500m M50 | 11 5.22.07 AR 18 50 /N= 09.24
E:) 1500m M50 | 12 5.27.12 IR FDER 53 B 09.24
E) 1500m M50 | 13 5.30.29 EH Wz 50 PN 09.24
E:) 1500m M50 | 14 6.16.07 TR BE 54 ko] 09.24
E:) 1500m M55 1 44897 il 58 % 09.24
E) 1500m M55 2 453.86 AF HKfE 58 /N 09.24
E:) 1500m M55 3 456.19 A& fF58A 55 HE 09.24
E:) 1500m M55 4 459.49 Heh 2 56 2450 09.24
E:) 1500m M55 5 5.00.91 B BE 57 =%l 09.24
E:) 1500m M55 6 5.01.76 h 57 FE 09.24
E; 1500m M55 | 7 5.23.99 B% BX 58 | B 09.24
) 1500m M55 8 5.25.85 21l B 56 £ 09.24
E:) 1500m M55 9 5.27.69 HE E 56 REl Ll 09.24
£ 1500m M55 | 10 5.30.65 HH RX 58 FE 09.24




E:) 1500m M55 | 11 5.44.63 AR REA 59 B 09.24
E:) 1500m M55 | 12 5.48.43 We EE 57 B4 09.24
E:) 1500m M55 | 13 5.51.95 A #75 59 B 09.24
g8 1500m M55 | 14 5.58.34 BT FIXC 57 L 09.24
) 1500m M55 | 15 6.32.36 =R H#— 56 k) 09.24
E:) 1500m M60 1 456.19 hE ¥ 61 HE 09.24
E:) 1500m M60 2 459.29 KH B 60 B 09.24
8 1500m M60 3 459.84 HR * 62 [53=3 09.24
g8 1500m M60 | 4 5.01.75 Bt EE 64 | LB 09.24
) 1500m M60 5 5.05.24 fiE K 60 PN 09.24
E:) 1500m M60 6 5.06.43 KAR E&E | 64 AR 09.24
g8 1500m M60 7 5.20.30 (1T 61 BB 09.24
£ 1500m M60 8 52152 X% 7 62 RE 09.24
g8 1500m M60 9 5.27.83 il B 61 Z40 09.24
g8 1500m M60 | 10 5.35.93 EH BB 63 PN 09.24
E:) 1500m M60 | 11 5.39.62 FE A 61 = 09.24
8 1500m M60 | 12 6.09.68 EHBE F1T | 62 %= 09.24
g8 1500m M60 | 13 6.11.66 A Bk 62 Ik B 09.24
) 1500m M60 | 14 6.13.28 R OBEE |64 | HE 09.24
E:) 1500m M65 1 5.10.20 TE 55 66 = 09.24
g8 1500m M65 2 5.15.40 A +X 66 wn 09.24
E; 1500m M65 | 3 5.19.96 ZE H— 65 | B 09.24
E: 1500m M65 4 521.32 fEx = 65 B 09.24
E:) 1500m M65 5 5.27.50 IR EmE 68 B 09.24
E; 1500m M65 | 6 5.36.85 #* KB 68 | BiR 09.24
) 1500m M65 7 5.39.63 EE T 68 KR 09.24
g8 1500m M65 8 5.51.18 BB #HK 68 =i 09.24
E; 1500m M65 | 9 5.53.83 FHR # 68 | B 09.24
E: 1500m M65 | 10 5.59.64 T Bt 67 [EA]I] 09.24
g8 1500m M65 | 11 6.15.38 ¥ 285 66 PN 09.24
E:) 1500m M65 | 12 6.30.11 A EX 67 | ®=J)I | 09.24
E:) 1500m M65 | 13 6.51.51 Il R 66 i 09.24
g8 1500m M65 | 14 7.21.61 FIER 2 65 ZiE 09.24
g8 1500m M70 1 5.19.25 Blg EX 70 | {EE 09.24
) 1500m M70 2 5.39.39 ki B— 70 | )| 09.24
E:) 1500m M70 3 5.49.45 BE it Al B 09.24
g8 1500m M70 | 4 5.51.78 thE EfE 72 ke 09.24
E: 1500m M70 5 5.52.26 TR St 70 Ik B2 09.24
E:) 1500m M70 6 5.56.45 g 8 72 | dbiBE | 09.24
g8 1500m M70 7 5.57.69 =17 B 70 B 09.24
E; 1500m M70 | 8 5.59.46 A S 70 | EE 09.24
g8 1500m M70 9 6.02.54 EH BX 71 FE 09.24
g8 1500m M70 | 10 6.14.62 R S 71 BE 09.24
E; 1500m M70 | 11 6.16.81 ik R il 70| KB 09.24
g8 1500m M70 | 12 6.33.24 FR %K 70 =1 09.24
E:) 1500m M70 | 13 6.54.08 AgE fok 72 B 09.24
£ 1500m M70 | 14 7.08.78 N BEEE Al R 09.24
E:) 1500m M70 | 15 8.07.58 EH 5 74 | BIRE | 09.24
E:) 1500m M70 | 16 11.49.31 ik &EX 72 | BRE | 09.24
E:) 1500m M75 1 6.01.05 o 77 B3 09.24
) 1500m M75 2 6.06.39 L B— 76 240 09.24
g8 1500m M75 3 6.22.30 = #is 75 x5 09.24
E; 1500m M75 4 7.33.38 ARk BR 76 ) 09.24
E: 1500m M75 5 8.15.90 7l BB 75 /N= 09.24
g8 1500m M75 6 9.32.62 RIS #EK 77 B3 09.24
E:) 1500m M80 1 6.49.20 IR % 80 EE 09.24
) 1500m M8O | 2 6.51.35 HER B | 81 ke 09.24
g8 1500m M80 3 6.55.98 ] —Ep 80 Z40 09.24
g8 1500m M80 | 4 7.15.97 HFT =58 |80 PN 09.24
g8 1500m M80 5 7.54.90 g IE7A 84 | #ZJIl | 09.24
g8 1500m M80 6 8.25.24 kH fH— 81 BER 09.24
g8 1500m M80 7 9.02.27 £\ —B 80 B 09.24
) 1500m M80 | 8 10.51.79 HIE BE 83 KR 09.24
g8 1500m M85 1 8.35.55 BA Bk 87 BE 09.24
g8 1500m M85 2 10.57.08 ER #F#= 86 Nz 09.24
E; 3000m M60 | 1 10.28.87 hE ¥ 61 B 09.22
E:) 3000m M60 2 10.37.69 Bf EE 64 /= 09.22
g8 3000m M60 | 3 10.45.63 KH %EH 60 B 09.22
E; 3000m M60 | 4 10.49.85 KAR 55 |64 | = 09.22




L] 3000m M60 | 5 10.54.70 HiE E— 61 =1 09.22
g8 3000m M60 | 6 11.08.57 hig ® 60 | KM 09.22
E; 3000m M60 | 7 11.14.01 hiE & 61 =351 09.22
L] 3000m M60 | 8 11.22.21 HH 61 B 09.22
) 3000m M60 | 9 11.28.03 il 818 61 Z4N 09.22
E:) 3000m M60 | 10 11.45.27 BE & 63 B 09.22
E:) 3000m M60 | 11 11.50.05 AB X 61 | #W=JIl | 09.22
8 3000m M60 | 12 12.18.83 BRA & 63 | LB 09.22
g8 3000m M60 | 13 13.50.39 B RIE 61 | ML | 09.22
E: 3000m M60 | 14 14.00.14 ATH Bk 62 Ik B2 09.22
E) 3000m M65 1 11.08.47 TE 55 66 =H 09.22
g8 3000m M65 | 2 11.15.31 ZH H— 65 | B 09.22
5 3000m M65 | 3 11.18.45 IR E 68 | B 09.22
) 3000m M65 4 11.33.84 fEx = 65 B 09.22
g8 3000m M65 5 11.45.32 g £K 67 B 09.22
5 3000m M65 | 6 11.59.42 K& 66 | =Ll 09.22
E:) 3000m M65 7 12.15.35 TR FH 65 mE 09.22
g8 3000m M65 | 8 12.17.57 BE WK 68 | Il 09.22
5 3000m M65 | 9 12.27.97 #* RS 68 | BiR 09.22
) 3000m M65 | 10 12.39.97 FH # 68 B 09.22
g8 3000m M65 | 11 12.51.22 WA &5 68 BB 09.22
E; 3000m M65 | 12 13.52.54 T B 67 WL 09.22
E: 3000m M65 | 13 13.53.81 MHE FEX 67 | I 09.22
E:) 3000m M65 | 14 15.33.62 Bk E& 67 B 09.22
E; 3000m M70 | 1 11.44.96 g EX 70 | 1B 09.22
5 3000m M70 | 2 12.00.27 &k H— 70 | #®Z=) | 09.22
g8 3000m M70 | 3 12.11.19 HE XB 70 wna 09.22
E; 3000m M70 | 4 12.18.46 BE &t 71 =351 09.22
5 3000m M70 | 5 12.43.83 hE B 72 | deiEE | 09.22
g8 3000m M70 | 6 12.44.48 HE BT 72 E5[10] 09.22
E:) 3000m M70 7 12.49.20 =215 B 70 B 09.22
5 3000m M70 | 8 13.26.72 iR A 71 BE 09.22
E:) 3000m M70 9 13.55.33 AR RSk 72 B 09.22
E:) 3000m M70 | 10 13.57.64 TEHE FH |1 &Ll 09.22
E:) 3000m M70 | 11 14.02.15 E# Ef 73 = 09.22
g8 3000m M70 | 12 14.02.38 NG &N 0| ®EE 09.22
E:) 3000m M70 | 13 15.06.80 sl &R 70 HiR 09.22
E:) 3000m M70 | 14 17.32.50 t% § 73 = 09.22
g8 3000m M75 1 12.32.91 wa 77 I 09.22
g8 3000m M75 | 2 13.10.19 = 75| X% 09.22
E; 3000m M75 | 3 13.14.66 =X BB 75 | BH 09.22
E:) 3000m M75 4 13.47.83 S Rk 75 BiR 09.22
E:) 3000m M75 5 15.31.36 s #ea 76 | #®=JI | 09.22
E; 3000m M75 | 6 16.06.73 ARk EEK 7% | X% 09.22
E:) 3000m M75 7 18.16.97 = TE 79 RE 09.22
g8 3000m M75 | 8 19.35.03 7l BB 75| KB 09.22
5 3000m M75 | 9 20.13.18 fRIE #2k 77 | & 09.22
5 3000m M80 1 14.25.58 hEXR FABA | 81 ke 09.22
g8 3000m M80 | 2 14.31.56 $AR —ER 80 | EBHI 09.22
E; 3000m M80 | 3 14.33.37 FMAF Z£— | 81 BB 09.22
L] 3000m M80 | 4 14.37.45 WA % 80 | EE 09.22
g8 3000m M80 | 5 15.58.73 #T =B |80 | Kk 09.22
E; 3000m M80 | 6 18.26.36 HE %A 81 L5 09.22
5 3000m M80 | 7 21.15.94 HIE BE 83 | KM 09.22
g8 5000m M24- | 1 16.33.47 Fh g% 24 | EBlE 09.23 -t
E; 5000m M24- | 2 16.57.36 B EiE 20 | #HK 09.23
L] 5000m M25 1 15.53.18 it B 29 | KR 09.23
g8 5000m M25 | 2 17.58.23 INEL K5 26 | BE 09.23
g8 5000m M25 | 3 19.40.03 #E FX 25 | B 09.23
E:) 5000m M30 1 15.17.51 20 XK 30 B 09.23 | K&Facsx
g8 5000m M30 | 2 16.25.92 thE B 32 | BE 09.23
g8 5000m M30 | 3 16.29.99 ‘AR BHiA 33| BE 09.23
L] 5000m M30 | 4 17.59.36 FiR BEL 33| EE 09.23
g8 5000m M35 1 16.04.30 IR ifE— 39 | BH 09.23
E:) 5000m M35 2 16.06.84 Wiz & 38 B 09.23
E; 5000m M35 | 3 16.20.67 At Fi 35 | B 09.23
8 5000m M35 | 4 16.23.72 HE ER 38 | LE 09.23
E:) 5000m M35 5 16.27.27 xH — 39 K% 09.23
E; 5000m M35 | 6 17.11.62 Yl BHE 37 | B 09.23




) 5000m M35 7 17.17.11 N & 38 £EH 09.23
E:) 5000m M35 8 17.26.74 WA BF 37 B 09.23
E; 5000m M35 | 9 18.03.88 HO * 36 | m#H 09.23
E:) 5000m M40 1 15.57.65 5 B 41 HiR 09.23
) 5000m M40 | 2 16.41.46 INE FEBH 4 it 09.23
E:) 5000m M40 | 3 16.44.60 BE R 43 BIE 09.23
) 5000m M40 | 4 17.29.40 AH X4 43 [53= 09.23
E:) 5000m M40 5 17.30.31 h#t BARER | 44 E% 09.23
E:) 5000m M40 6 18.17.96 He BE 42 B 09.23
) 5000m M40 7 19.21.54 A Bk 44 | THH 09.23
g8 5000m M40 | 8 19.31.55 g E— 40 =W 09.23
g8 5000m M45 1 15.51.75 TFHRME =H | 46 PN 09.23
5 5000m M45 | 2 16.13.12 BHE B 47 | %M 09.23
E:) 5000m M45 3 16.23.07 T sk 49 RE 09.23
g8 5000m M45 4 16.45.80 & —E& 46 | BB 09.23
5 5000m M45 | 5 16.51.29 £F Fh 48 | EE 09.23
E:) 5000m M45 6 17.18.30 a3 46 250 09.23
g8 5000m M45 7 17.36.29 AIA E— 47 B 09.23
5 5000m M45 | 8 18.32.57 i 1% 49 | O 09.23
E:) 5000m M45 9 18.35.96 ZH fi— 49 RE 09.23
g8 5000m M45 | 10 18.52.92 Bl & 45 B 09.23
E; 5000m M45 | 11 19.13.56 W IE4 45 | HEm 09.23
E: 5000m M45 | 12 19.26.07 =K B 47 ==F 09.23
E:) 5000m M45 | 13 19.46.95 EaRKRK RE |49 B’iR 09.23
E; 5000m M45 | 14 19.53.61 A RE 48 | EE 09.23
5 5000m M50 1 16.58.96 BR hi5 53 | #E 09.23
g8 5000m M50 | 2 17.22.32 & W 51 HE 09.23
E; 5000m M50 | 3 17.46.06 B OEE 51 £E 09.23
E: 5000m M50 4 17.51.00 B EM 52 | Il 09.23
g8 5000m M50 5 17.53.19 ELZ# #Msh | 50 AR 09.23
g8 5000m M50 6 18.07.52 AT FF 51 B 09.23
) 5000m M50 7 18.37.85 F gt 51 KR 09.23
g8 5000m M50 | 8 18.55.14 fE”A IEF | 52 EE 09.23
E:) 5000m M50 9 18.58.17 g Bt 51 B 09.23
E:) 5000m M50 | 10 19.18.37 BB BER 51 B 09.23
g8 5000m M50 | 11 19.55.35 INFR FOSR 53 B 09.23
g8 5000m M50 | 12 20.04.09 BA Hith 53 B 09.23
E: 5000m M50 | 13 20.10.40 A H— 53 ==F 09.23
g8 5000m M50 | 14 20.50.32 e Bth 52 EW 09.23
g8 5000m M50 | 15 21.36.95 K 2 51 Z4N 09.23
E; 5000m M55 1 17.34.34 Tl BE 58 | EBAI 09.23
E:) 5000m M55 2 17.37.48 AR s 57 BE 09.23
E:) 5000m M55 3 17.57.70 |’AR ILFE 56 B 09.23
E; 5000m M55 | 4 18.05.59 AF $F5A 55 | #E 09.23
g8 5000m M55 5 18.14.62 hE Ak 57 | #MFL | 09.23
g8 5000m M55 6 18.57.43 B BE 57 E40 09.23
5 5000m M55 | 7 20.02.41 FH RX 58 | FIE 09.23
5 5000m M55 8 20.16.98 B AE 59 | #®Z)Il | 09.23
E:) 5000m M55 9 20.19.79 ARt RER 59 B 09.23
E; 5000m M55 | 10 21.42.10 L FIX 57 R 09.23
E: 5000m M55 | 11 21.56.90 WE EE 57 2450 09.23
g8 80mH M70 1 14.75 INER B 70 Z) | 09.23
E; 80mH M70 | 2 16.91 BE# BX 70 | KR 09.23
E: 80mH M70 3 17.86 RE B 70 Z5N 09.23
g8 80mH M70 | 4 19.75 Sl BF 74 | B 09.23
E; 80mH M75 1 15.24 BH BR 77| BE 09.23
E:) 80mH M75 2 15.25 #EEr BLAR 76 R 09.23
E) 80mH M75 3 16.85 RKig fRi% 75 =E 09.23
E:) 80mH M75 4 17.57 INER BB 75 ] 09.23
B 80mH M75 5 17.58 e E&& 78 ke 09.23
E) 80mH M75 6 19.47 0O ZHif 79 HIR 09.23
E:) 80mH M75 7 19.48 ki KX 75 Z50 09.23
E:) 80mH M80 1 19.02 B ETE 81 | #Fl | 09.23
g8 80mH M80 | 2 30.31 % IE 83 PN 09.23
g8 100mH M50 1 14.72 INR B 54 | #ZE) | 09.23
E; 100mH M50 | 2 15.13 BIE 2 53 | R 09.23
) 100mH M50 3 15.56 kg =9 54 L 09.23
g8 100mH M50 | 4 15.67 R R 51 3 09.23
E; 100mH M50 | 5 15.79 NN BZ 50 | R 09.23




) 100mH M50 6 16.06 EF BB 53 240 09.23
E:) 100mH M50 7 16.27 AT ik 50 AR 09.23
E; 100mH M50 | 8 16.35 HE 2% 54 | mH 09.23
g8 100mH M50 9 16.64 KH HR=E 51 all 09.23
E:) 100mH M55 1 16.30 T #A 57 HIR 09.23
E:) 100mH M55 2 17.74 fitiR % 56 = 09.23
) 100mH M55 3 18.43 Bol E—BR | 55 | =) | 09.23
E:) 100mH M55 4 20.41 = AR 57 RE 09.23
E:) 100mH M55 5 20.88 BHAR #Eh 58 KB 09.23
) 100mH M60 1 16.60 EE B2 61 A 09.23
g8 100mH M60 2 16.95 AR 60 | #ZJIl | 09.23
E:) 100mH M60 3 17.64 =E % 62 HE 09.23
E:) 100mH M60 4 17.89 AH H 61 RE 09.23
E:) 100mH M60 5 18.33 g & 63 ] 09.23
E:) 100mH M60 6 20.67 fRiE EE 61 20 09.23
E: 100mH M65 1 17.86 At & 66 = 09.23
g8 100mH M65 2 19.01 &Il X | 67 BE 09.23
E:) 100mH M65 3 19.04 W BEE 65 BE 09.23
E:) 100mH M65 4 19.05 S5 ME 69 =F 09.23
) 100mH M65 5 19.10 KR BE 65 FE L 09.23
E:) 100mH M65 6 19.27 A IEfE 67 | #®=JIl | 09.23
E; 100mH M65 | 7 20.23 ne &A 66 | IxE 09.23
) 100mH M65 8 20.97 AR Rt 66 'BH 09.23
E:) 100mH M65 9 31.49 Fig —ig 69 Z4N 09.23
E:) 110mH M25 1 1455 -0.3 T UifE 25 Ik B2 09.23 | BAHFH
8 110mH M25 2 14.83| -0.3 E#E Eh 26 RE 09.23 | K=tk
E:) 110mH M25 3 14.93| -09 TN R 29 £E 09.23
g8 110mH M25 4 15.72| -0.3 RE i 25 NI 09.23
E:) 110mH M25 5 15.85| -0.9 AR BA 27 EE 09.23
E:) 110mH M25 6 16.08| -0.3 B $hEk 26 = 09.23
E:) 110mH M25 7 16.10| -0.9 R —H 27 BE 09.23
) 110mH M30 1 14.84| -0.7 #R ME 34 B3 09.23
E) 110mH M30 2 15.25| -0.7 & %k 34 EE 09.23
E:) 110mH M30 3 15.38| -0.7 I RIE 34 | #BE 09.23
) 110mH M30 4 1547| -0.7 =R EE 31 FE 09.23
E:) 110mH M30 5 22.07| -0.7 hE #& 31 Ik B2 09.23
E:) 110mH M35 1 15.95| -0.38 FI B— 37 LE 09.23
) 110mH M35 2 16.96| -0.8 HH OBE— 39 B 09.23
E) 110mH M35 3 17.80| -0.8 | A EFEEE R | 37 /N 09.23
E:) 110mH M40 1 15.69| -0.9 KB fE— | 42 == 09.23
E: 110mH M40 2 15.78| -0.9 W Es 44 Ik B2 09.23
) 110mH M40 3 17.51| -0.9 W B2 43 I BB 09.23
E:) 110mH M40 4 19.30| -0.9 Bl Hth 43 HiR 09.23
E:) 110mH M40 5 19.88| -0.9 HEHR -5 41 LE 09.23
) 110mH M40 6 28.02| -0.9 nEE B 44 Z40 09.23
E:) 110mH M45 1 15.83| -0.38 TR % 47 BB 09.23
) 110mH M45 2 16.11| -0.8 fE4QK % | 49 B4 09.23
E:) 110mH M45 3 16.55| -1.9 FH S 45 2450 09.23
E:) 110mH M45 4 16.76| -0.8 =l BE 46 £E 09.23
E: 110mH M45 5 17.07| -1.9 e\ 46 RE 09.23
) 110mH M45 6 17.97| -08 [IT]==: %N 49 R 09.23
E:) 110mH M45 7 18.03| -0.38 XiF &% 48 == 09.23
E:) 110mH M45 8 18.09| -0.8 IR FZ 48 B 09.23
) 110mH M45 9 18.52| -1.9 wma E 46 PN 09.23
E:) 110mH M45 | 10 20.69| -0.8 £H 7 48 Z40 09.23
g8 110mH M45 | 11 3869 | -1.9 FIR EFK 45 NI 09.23
) 200mH M80 1 3869 -1.2 HE #ME | 80 &8 09.24
E) 200mH M80 2 4071 -1.2 JEith & 81 | #MFL | 09.24
E:) 200mH M80 3 57.24| -1.2 koK B |80 | dtiEE | 09.24
=) 200mH M80 4 61.82| -1.2 B IE 83 KB 09.24
E) 200mH M85 1 69.53| -1.2 BH BX 87 =mE 09.24
E:) 300mH M60 1 47.74 X2 FA 60 Al 09.24
E: 300mH M60 2 48.08 R BHE{Z | 60 RE 09.24
E:) 300mH M60 3 50.00 AR E 60 | ®Z)Il | 09.24
E:) 300mH M60 4 50.31 HH BE 61 A 09.24
E; 300mH M60 | 5 50.31 = %= 60 | B 09.24
) 300mH M60 6 54.39 &0 FIRR 63 BE 09.24
E:) 300mH M60 7 55.34 CH ERXR 62 BiE 09.24
E; 300mH M60 | 8 56.89 £l 54 64 | dtiEE | 09.24




E: 300mH M60 9 58.95 i RIE 61 12 09.24
g8 300mH M60 | 10 59.54 BHE F17 |62 | TR 09.24
E; 300mH M65 1 50.47 BH RIE 65 | HE 09.24
E: 300mH M65 2 52.29 [RiR & 66 BE 09.24
E:) 300mH M65 3 53.97 S5 ME 69 = 09.24
E:) 300mH M65 4 54.88 I FX 66 wmAR 09.24
E:) 300mH M65 5 56.19 FiE —ig 69 2 09.24
8 300mH M65 6 58.29 #HR Rt 66 &% 09.24
g8 300mH M65 7 1.00.87 AH 2 69 PN 09.24
E:) 300mH M65 8 1.01.05 #ik BB 67 RIR 09.24
g8 300mH M65 9 1.05.36 fE E=X 67 #E 09.24
E:) 300mH M70 1 51.22 HH 58 70 B’ 09.24
5 300mH M70 | 2 57.80 s IEER 73| HEE 09.24
) 300mH M70 3 58.02 B BHX 70 KB 09.24
E:) 300mH M70 4 58.14 HOo RE 70 Al 09.24
5 300mH M70 | 5 1.00.29 B = 70 | KR 09.24
8 300mH M70 6 1.06.01 Al EE 74 | B 09.24
g8 300mH M75 1 1.03.00 i B | BE 09.24
5 300mH M75 | 2 1.03.49 J\B 79 | mH 09.24
) 300mH M75 3 1.05.65 TH R 77 B#E 09.24
g8 300mH M75 4 1.09.01 INGR HEHE 75 | B4 09.24
E; 300mH M75 | 5 1.20.80 NG 75| == 09.24
) 400mH M25 1 57.00 hEE (A 27 =E 09.24
E:) 400mH M25 2 57.91 BT INHE 25 Ik B2 09.24
E:) 400mH M25 3 59.19 T HA 25 BiE 09.24
E:) 400mH M30 1 55.55 NI E 32 ik 09.24
E:) 400mH M30 2 56.44 A &HE 31 AR 09.24
E; 400mH M30 | 3 56.71 BE MR 34 | T 09.24
8 400mH M30 4 58.40 =R EE 31 FE 09.24
E:) 400mH M30 5 58.56 ik BE 30 FE 09.24
g8 400mH M30 6 59.77 WE HS 32 RElLL 09.24
) 400mH M30 7 1.00.83 ZKEH 5F 32 [53= 09.24
g8 400mH M30 8 1.01.58 hHE GAE 31 AR 09.24
g8 400mH M30 9 1.03.02 T & 33 BB 09.24
) 400mH M30 | 10 1.07.16 FE #E 31 Ik B2 09.24
g8 400mH M30 | 11 1.10.15 FEHE #454 32 | =4 09.24
E:) 400mH M35 1 57.69 B EE 36 Nz 09.24
) 400mH M35 2 58.58 kg —% 37 | deiEE | 09.24
g8 400mH M35 3 1.00.89 FEE 39 | #EB 09.24
g8 400mH M35 4 1.05.47 il ORE— 39 B 09.24
E:) 400mH M35 5 1.07.73 BB K 36 B 09.24
g8 400mH M40 1 59.38 mH EX 40 BER 09.24
g8 400mH M40 2 1.02.94 % BRIE 43 Z4N 09.24
E:) 400mH M40 3 1.06.58 Bl EX 43 B 09.24
) 400mH M40 4 1.08.23 Faf g 40 B 09.24
g8 400mH M45 1 59.66 Bt RT 45 TR 09.24
E: 400mH M45 2 1.02.31 INLUE gEA | 47 | #E) 09.24
8 400mH M45 3 1.02.98 I Bk 47 HE 09.24
g8 400mH M45 4 1.03.27 =E Bt 49 PN 09.24
E; 400mH M45 | 5 1.04.49 i BEL 49 | #R 09.24
8 400mH M45 6 1.05.18 KR &= 48 =E 09.24
g8 400mH M45 7 1.05.38 8 EE 45 PN 09.24
E; 400mH M45 | 8 1.06.90 = BE 46 | EE 09.24
E:) 400mH M45 9 1.10.20 FEA 2 45 % 09.24
g8 400mH M45 | 10 1.10.29 A #E—B7 | 48 £E 09.24
E:) 400mH M45 | 11 1.13.32 ZIR B 49 L 09.24
) 400mH M50 1 1.01.03 ¥ &5 54 | KR 09.24
E) 400mH M50 2 1.03.63 R OR 51 HIR 09.24
g8 400mH M50 3 1.04.61 &k =8 54 11} 09.24
=) 400mH M50 | 4 1.06.42 ZAR IEZER | 50 L8 09.24
g8 400mH M50 5 1.06.93 Ei5 Bith 50 BER 09.24
g8 400mH M50 6 1.07.01 EFE B 51 BE 09.24
) 400mH M50 7 1.08.62 wA Hih 54 | LB 09.24
g8 400mH M50 | 8 1.10.21 HHE 5% 54 | TR 09.24
g8 400mH M55 1 1.06.21 i RE 55 =] 09.24
E:) 400mH M55 2 1.08.29 BN 15 56 | M=)l | 09.24
) 400mH M55 3 1.09.95 #ME X 55 240 09.24
g8 400mH M55 4 1.09.97 FE £E 55 3 09.24
E:) 400mH M55 5 1.11.69 EEH =X 56 HiR 09.24




] 400mH M55 | 6 1.12.36 M F8 57 | B0 09.24
E:) 400mH M55 7 1.13.27 b B—BR | 55 | @@= 09.24
E:) 400mH M55 8 1.22.52 D R 57 B4 09.24
E:] 400mH M55 | 9 1.37.33 e BB 59 | KR 09.24
] 2000mSC | M60 | 1 7.42.88 AR HH |60 | T 09.23
2] 2000mSC | M60 | 2 8.08.37 hiE ® 60 | KR 09.23
] 2000mSC | M60 | 3 12.11.55 B 63 | EE 09.23
2] 2000mSC | M65 | 1 8.32.73 =5 F8 65 | LB 09.23
2] 2000mSC | M65 | 2 8.43.56 i Sk 65 | =40 09.23
] 2000mSC | M65 | 3 8.54.15 Ik B 68 | A% 09.23
E:) 2000mSC M65 4 8.55.15 S 68 PN 09.23
E:) 2000mSC | M65 5 9.10.36 BE K 68 = 09.23
5 2000mSC | M65 | 6 9.44.45 Fig B— 67 | B 09.23
E:) 2000mSC M65 7 9.47.41 xZE =2 67 Ik B2 09.23
2] 2000mSC | M65 | 8 10.43.94 Bl 3FIE 66 | == 09.23
E:) 2000mSC M70 1 8.40.67 HE XB 70 A 09.23
] 2000mSC | M70 | 2 8.47.23 Fig A 70 | KB 09.23
2] 2000mSC | M70 | 3 9.28.04 RS 3h 3| EE 09.23
2] 2000mSC | M70 | 4 10.05.76 HO BE 70 | &N 09.23
] 2000mSC | M70 | 5 10.53.85 Wi —8 71 BEH 09.23
2] 2000mSC | M75 | 1 10.08.63 BH %X 75| EE 09.23
E; 2000mSC | M75 2 11.07.96 J\B % 79 | EH 09.23
] 2000mSC | M75 | 3 12.21.78 % =B 76 | E 09.23
2] 3000mSC | M25 | 1 9.56.57 FIE #hi 25 | B 09.23 | BAZRHE
E; 3000mSC | M30 1 9.25.97 A0 8K 30 | BE 09.23 | BRI
5 3000mSC | M30 | 2 10.33.06 BA ¥ 34 | 1E@E 09.23
2] 3000mSC | M30 | 3 12.41.29 hE #E 31 I B 09.23
E; 3000mSC | M30 | 4 13.16.09 2 E 34 | EE 09.23
] 3000mSC | M35 | 1 10.50.64 ik Toa 36 | EE 09.23
2] 3000mSC | M35 | 2 11.18.38 HE E— 39 | R 09.23
2] 3000mSC | M35 | 3 11.37.01 ELN:ES 35 | M%) | 09.23
5 3000mSC | M35 | 4 12.38.79 BIR HB—8 |35 | HRB 09.23
2] 3000mSC | M40 | 1 10.41.57 NG $EBR 41 w5 09.23
2] 3000mSC | M40 | 2 11.36.09 XiE =t 43 | ®Em 09.23
] 3000mSC | M40 | 3 12.29.58 Ho BE 42 | B 09.23
2] 3000mSC | M45 | 1 10.25.49 WH B 47 | M 09.23
2] 3000mSC | M45 | 2 10.28.09 FIEp —& 46 | B 09.23
] 3000mSC | M45 | 3 11.06.87 IRE EEsA 49 | FE 09.23
2] 3000mSC | M45 | 4 11.39.19 K% B35k 45 | EE 09.23
2] 3000mSC | M45 | 5 12.41.64 PO A 49 | EE 09.23
E; 3000mSC | M45 6 13.25.82 WA ZEF 45 | 1EM 09.23
] 3000mSC | M50 | 1 11.41.19 WA AR |50 | Xk 09.23
E:) 3000mSC | M50 2 11.42.21 FHLU B— 54 | #®=JIl | 09.23
E; 3000mSC | M50 | 3 11.45.81 wi gR 51 wnA 09.23
] 3000mSC | M50 | 4 11.48.75 =5 XE 51 RER 09.23
2] 3000mSC | M50 | 5 12.01.84 —/# X |52 | ®HE 09.23
5 3000mSC | M50 | 6 12.07.86 A% B— 51 PN 09.23
] 3000mSC | M50 | 7 12.58.81 ME H— 53 | == 09.23
2] 3000mSC | M50 | 8 13.13.29 =& BAE 51 BiR 09.23
E; 3000mSC | M55 1 11.56.18 IR EB 57 == 09.23
5 3000mSC | M55 | 2 12.55.07 FEK AN 57 | #E 09.23
2] 3000mSC | M55 | 3 13.28.22 2l E 56 | ER 09.23
E; 3000mW M60 1 18.10.22 EX B 62 | ERE 09.23
5 3000mW M60 | 2 19.05.65 S 63 | BWR 09.23
2] 3000mW M60 | 3 20.18.33 £ Eh 62 | == 09.23
E; 3000mW M60 | 4 20.20.28 il S5 61 Z40 09.23
=] 3000mW M60 | 5 20.21.98 B &= 64 | KR 09.23
E:) 3000mW M60 6 21.52.49 EiE EA 61 == 09.23
2] 3000mW M65 | 1 18.50.95 EK & 65 | m#H 09.23
2] 3000mW M65 | 2 20.30.05 B BE# 67 | BH 09.23
2] 3000mW M65 | 3 20.42.84 e B®E 68 | I 09.23
E:) 3000mW M65 4 21.35.80 FH EZ& 65 &Nl 09.23
=] 3000mW M65 | 5 23.05.43 W\ B— 67 | RE 09.23
E:) 3000mW M65 6 23.21.32 AEER KB | 67 | #WEI 09.23
2] 3000mW M65 | 7 23.42.53 T BE—B |65 | MW 09.23
E; 3000mW M65 | 8 24.39.20 Bl tE— 65 | KM 09.23
] 3000mW M70 | 1 19.12.28 .| FX 71 R 09.23
2] 3000mW M70 | 2 19.14.93 HE #H— 72 | B 09.23
E; 3000mW M70 | 3 19.53.58 hR %X 70 =1 09.23




2] 3000mW M70 | 4 20.17.19 X BE 72 A=A 09.23
E] 3000mW M70 | 5 21.02.69 BE HE 74 | KR 09.23
E; 3000mW M70 | 6 24.51.90 hiE @il 73 | B 09.23
] 3000mW M75 | 1 19.33.98 KB HE 79 | FE 09.23
E:) 3000mW M75 2 20.36.19 fEH AR 76 FE 09.23
] 3000mW M75 | 3 20.37.20 EEH EE 76 | #Z=)I| | 09.23
2] 3000mW M75 | 4 20.37.21 b=y P S 77| FE 09.23
ES] 3000mW M75 | 5 22.20.15 il E 78 | =0 09.23
] 3000mW M75 | 6 24.19.89 B% =8 77 | &M 09.23
£ 3000mW M80 | 1 20.44.90 BE —#H |80 | KB 09.23
E:) 3000mW M80 2 21.53.54 HEE A 81 Nz 09.23
] 3000mW M80 | 3 25.37.85 kR fH— 81 £ 09.23
5 3000mW M80 | 4 25.43.26 Z2H BE= 81 BF 09.23
ES] 3000mW M80 | 5 25.55.76 tEaAK ZBE |80 | dtifEE | 09.23
] 3000mW M90 | 1 28.15.65 B FE/N 90 | EE 09.23 | K&tk
E] 5000mW M25 | 1 34.4355 ME E=X 25 | BAO 09.23
ES] 5000mW M30 | 1 28.32.79 hE F 34 | BM 09.23
] 5000mW M35 | 1 27.23.69 BB #X 39 | BN 09.23
E] 5000mW M35 | 2 34.22.84 EIN:ES 35 | M%) | 09.23
ES] 5000mW M40 | 1 25.19.99 W B—R |42 | HER 09.23
] 5000mW M40 | 2 29.01.65 WE Ez 44 | HEKR 09.23
E:] 5000mW M40 | 3 29.34.98 A R 0| =B 09.23
E:] 5000mW M40 | 4 33.12.96 1k 28| 42 | EXR 09.23
E] 5000mW M45 | 1 28.40.76 A0 B 49 | EE 09.23
E] 5000mW M45 | 2 34.42.23 FiE EA 45 | KBR 09.23
E:] 5000mW M50 | 1 26.36.55 K R 50 | FIE 09.23
E] 5000mW M50 | 2 27.33.42 ENl & 53 | #FAK 09.23
E:] 5000mW M50 | 3 27.53.61 BIE 15— 51 PN 09.23
] 5000mW M50 | 4 32.19.36 EO— 7—k |54 | #E@ 09.23
E] 5000mW M50 | 5 33.10.95 i B 52 =)l | 09.23
] 5000mW M55 | 1 29.41.38 S I 57 | KR 09.23
£ 5000mW M55 | 2 30.06.12 =/ 59 | BE 09.23
E] 5000mW M55 | 3 33.22.66 Mg raEl 58 | D 09.23
] 5000mW M55 | 4 33.30.03 =m H— 56 | i 09.23
£ 5000mW M55 | 5 34.41.94 = ER 58 | T 09.23
5 EoBk M25 | 1 2.00 #BH EA 27 | BN 09.23 S
B 5Bk M25 2 1.80 KT #A 27 HiR 09.23
=) 5Bk M25 3 1.65 AR BA 27 EE 09.23
B 5Bk M25 4 1.60 TH = 27 FIE 09.23
E:] E = Bk M25 | 5 1.60 T BAK |26 | KR 09.23
E:] E= Bk M30 | 1 1.95 B B |32 | BE 09.23 KL 44
=) 5Bk M30 2 1.90 28 U& 33 EFl 09.23
=) 5Bk M30 3 1.80 Il SR 34 B4 09.23
2] E= Bk M30 4 1.80 2l RfT 34 FE L 09.23
5 E= Bk M35 | 1 1.95 ABRE B 3B | EE 09.23
E:] E = Bk M35 | 2 1.80 #0O B2 38| BB 09.23
E:] E= Bk M35 | 3 1.80 NEE N |37 | KPR 09.23
=) 5Bk M40 1 1.95 EH HE 40 B3 09.23
=) 5Bk M40 2 1.75 ERK # 42 L5 09.23
B 5Bk M40 3 1.75 hE BE 43 | #3l | 09.23
5 E= Bk M40 | 4 1.65 0 S | 44 | B 09.23
E:] E = Bk M40 | 5 1.65 o Rth |42 | Em 09.23
B 5Bk M40 6 1.45 =g - 43 EH 09.23
2] E= Bk M40 7 1.35 i FlE 44 kE 09.23
=) 5Bk M45 1 1.90 BER JXK 45 R 09.23 RKEM
B 5Bk M45 2 1.65 T B 45 KE 09.23
5 E= Bk M45 | 3 1.65 X% 47 | E® 09.23
5 EE Bk M45 | 4 1.65 =R 5 49 | % 09.23
2] E= Bk M45 5 1.60 O B 48 B 09.23
=) 5Bk M45 6 1.60 £H #Hth 46 HR 09.23
5 EE Bk M45 | 7 1.60 ERKR #HED | 49 | #E 09.23
5 E= Bk M45 | 8 1.50 WK KA 47 | EEX 09.23
E:] E = Bk M45 | 9 1.40 FE 2 45 | EB 09.23
5 EE Bk M50 | 1 1.70 ER =% 50 | B 09.23
2] E= Bk M50 2 1.70 A IE 53 12 09.23
=) 5Bk M50 3 1.65 XH BF 50 | #Z=JIl | 09.23
5 EE Bk M50 | 4 1.60 KR &4 52 | ZIl 09.23
E] E = Bk M50 | 5 1.60 EER KEE |54 | BB 09.23
E:] E= Bk M50 | 6 1.60 =5 B |50 | W 09.23
B TS M50 7 1.60 XH R=E 51 all 09.23
=) 5Bk M50 8 1.55 KAIR #E— | 50 HE 09.23




=) =1 M50 9 1.55 FH EE 54 LE 09.23
=) 5Bk M50 | 10 1.50 =g B2 53 = 09.23
B 5Bk M50 | 11 1.50 A Eh 50 EE 09.23
B T= Bk M50 | 12 1.45 BA EK 54 BHF 09.23
5 Ee= Bk M50 | 13 1.45 I % 54 | D 09.23
B =12 M50 | 14 1.45 —f RE 54 Eid 09.23
2] E= Bk M50 | 15 1.30 A H— 53 == 09.23
B 5Bk M55 1 1.55 A £R 55 £E 09.23
5 E= Bk M55 | 2 1.50 BT &M 57 | RH 09.23
B T= Bk M55 3 1.50 & BR 56 == 09.23
E:] Em= Bk M55 | 4 1.50 fHR & 56 | ZIl 09.23
) 5k M55 5 1.50 WA & 56 5 09.23
) E5 M55 6 1.50 =& Hih 57 ) 09.23
5 E= Bk M55 | 7 1.50 A TR 57 | 09.23
=) E5 Bk M55 8 1.45 ML 1R 56 o 09.23
E:] E= Bk M55 | 9 1.40 B &X |57 | EH 09.23
2] E= Bk M60 1 1.55 ES IS 60 FE 09.23 KM
=) =12 M60 2 1.50 EH #Eih 60 LE 09.23
5 EE Bk M60 | 3 1.50 B # 60 | E&E 09.23
B 5Bk M60 4 1.50 FE £+ 61 20 09.23
B T= Bk M60 5 1.45 Bt HE 62 EE 09.23
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